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Gain: 306
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Gain: 32.9
Pole: -0.00254 - 7.02i
5L Damping: 0.000362
B Overshoot (%): 99.9
Frequency (rad/sec): 7.02
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Gain: 244
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Gain: 351
Pole: —1.59 + 4.09i
Damping: 0.361
Overshoot (%): 29.6
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Gain: 1.29e+003
Pole: 0.0351 - 5.04i
Damping: —0.00696
Overshoot (%): 102
Frequency (rad/sec): 5.04
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Pole: 0.0156 + 7.25i
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Lead Compensator for the > plant=> K —————
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System: sys
Gain: 3.99e+003
15 Pole: -9.96 + 9.95i i
Damping: 0.707
Overshoot (%): 4.31
Frequency (rad/sec): 14.1
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Gain: 3.99e+003
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Lead Compensator for the > plant=> K —————
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Gain: 5.06e+003
Pole: -5.7 + 5.73i
System: sys Damping: 0.706
10k Gain: 5.05e+003 Overshoot (%): 4.38 -
Pole: -38.6 Frequency (rad/sec): 8.08
Damping: 1
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Overshoot (%): 0
Frequency (rad/sec): 38.6
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